REVISIONS
REV| DATE |[DRW'N|[CHCK'D| DESCRIPTION
A |16APR18| GFC -- INITIAL RELEASE
B [23APR18| GFC SHEET 3
(9.3)
J (5.3) =
=
~ °
—
PartNo DESCRIPTION
1 | 1 |872-LM8580 |SWING-ARM TIP/TILT INTERFACE PLATE
(44) 2 | 3 |872-LM8447|STAND OFF, MOCK MIRROR
4.4
\ 3 | 1 |872-LM-8404/MOCKUP MIRROR ASSEMBLY
SECTION A-A 4 |12 HW  |WASHER, FLAT, STANDARD, 1/4
5 |12 HW  |HEX NUT, 1/4-20
o o EE]I% — ‘ﬁhﬁj i 6 | 3 HW THREADED ROD, 1/4-20
E= — T_o ™ T ' 7 |3 HW  |[THREADED ROD, 1/4-20 X 3-1/2"
j—gm | % ™ ' ' 8 | 6 HW  |WASHER, FLAT, 5/16 X .732 X .08
= v i ; i 9 | 2 | SHOPS |4KGBRASS WEIGHT
10 | 1 | SHOPS |2 KG BRASS WEIGHT
11 | 2 HW  [SHCS, 1/4-20 X 1/2
NOTES "NINCHES & TOLERANCES ARE AS FOLLOWS 7 __CABAK .- |KECK 1 DEPLOYABLE TERTIARY MIRROR
. . . . L MISCELLANEOUS
X.X: +0.1000 X.XX: £0.0100 ==
1] CAD MODEL FILENAME, 872-LM9070 Swi D A . 20.0090"  X5000K. 26.0001"
TORQUE ALL FASTENER HW TO 70 IN.LBS oo ANGLES, 05+ FINISH. 126 ICRO INCHES ~ CABAK = SWING-ARM WITH DUMMY
BREAK ALL SHARP EDGES FICTEER
& CORNERS .002" MAX CABAK - MIRROR ASSY
MATERIAL FINISH LI C K SW DOCUMENT FILE PROJECT conlle?’FD DWC NO B
PARTS LIST - OBSERVATORY — 872-LM9070
- 3
8 7 5 f 4 3 ! 2 ! 1




DETAIL B
USING EXISTING HW
AT SAME LOCATION

DETAIL C
USING EXISTING HW
AT SAME LOCATION

&SAME HARDWARE USED

ON GROOVE PLATE ASSY

DUMMY MIRROR ATTACHMENT INSTRUCTIONS

1 REFER TO MIRROR & SWING ARM ASSEMBLY, 872-LM4700
2 REMOVE GROOVE PLATE ASSY, ITEM

3 REMOVE LEVEL PAD ASSY & LOCK NUT, ITEMS @ &@, BAG &
STORE WITH GROOVE PLATE

4 USE SAME GROOVE PLATE FASTENING HARDWARE, ITEMS @, @,

& @TO SECURE DUMMY MIRROR, TORQUE TO 70 IN-LBS

KECK 1 DEPLOYABLE TERTIARY MIRROR

MISCELLANEOUS

SWING-ARM WITH DUMMY

MIRROR ASSY

PROJECT CODE

K1D3FD
XT ASSY

872-LM9070

1




9.5

(2.0)

WITH WEIGHTS IN LIEU OF DUMMY MIRROR

ITEM|QTY P/N DESCRIPTION
1 | 1 |872-LM8580|SWING-ARM TIP/TILT INTERFACE PLATE
2 | 8 H/W WASHER, FLAT, STANDARD, 1/4
3 | 8 H/W HEX NUT, 1/4-20
4 | 3 HW THREADED ROD, 1/4-20 X 8-1/2"
5 | 5 HW WASHER, FLAT, 5/16 X .732 X .08
6 | 2 SHOPS |4 KG BRASS WEIGHT
7 | 4 SHOPS |2 KG BRASS WEIGHT
8 | 6 SHOPS |8 KG BRASS WEIGHT

KECK 1 DEPLOYABLE TERTIARY MIRROR

MISCELLANEOUS

SWING-ARM WITH

DUMMY MIRROR ASSY
___KIDSFD 872-LM9070

2 1




